APSL

1/4 Antenna Power Splitter
SERVICE MANUAL
07/2015

AKG CUSTOMER SERVICE DEPARTMENT / Salzgasse 2, 5400 Hallein, Austria ®
TEL: +43 1 866 54-0 / FAX: +43 1 866 54-1514 / service@akg.com / www.akg.com
»HARMAN

1/3



APSL

APS4

APS4-EU
APS4-US
APS4-UK

3296200010
3296200020
3296200030
3296200040

without power supply

with power supply + EU power cord
with power supply + US power cord
with power supply + UK power cord

2/3



APSL

Parts list / Stlickliste

Description Pos. Bgﬁg /;an;ifgr Qtéiggiy Bezeichnung
Housing bottom 1 5048728 1 Gehauseboden
Main board 2 5049208 1 Hauptprint
Front board 3 2996M01010 1 Displayprint
Knob cover 4 5050218 2 Knopfabdeckung
Display cover 5 5048380 1 Displayabdeckung
Display glass 6 3000224010 1 Displayglas
Housing foot 7 3000220010 4 GehausefuB
Bushing 8 3000Z21010 4 Hilse
Cover 9 3000742010 1 Abdeckung
Dip switch cover 10 5048377 1 Dip-Schalterabdeckung
Cover-ring 11 5048449 1 Abdeckring
Insulating ring, outer 12 5048357 1 Isolierring, auBBen
DC-Jack socket compl. 13 5048321 1 DC-Buchse kompl.
Insulating ring, inner 14 5048378 1 Isolierring, innen
Housing cover 15 3000215010 1 Gehausedeckel
Front panel 16 5048447 1 Frontplatte
Ring nut 17 2841710010 12 Ringmutter
Screw M3x12 18 | 7985D30120 4 Schraube M3x12
Screw M3x8 19 | 7985D30110 6 Schraube M3x8
Screw M2,5x6 20 | 7500D25000 4 Schraube M2,5x6
Toothwasher 21 9999N06050 12 Zahnscheibe

Accessory / Zubehor
— Part number uantit .

Description Pos. Bestellnummer Q S tL‘Jcky Bezeichnung
Powersupply 12V/3500mA* | 30 7801H00150 1 Netzteil 12V/3500mA*
RMU1 32 3000228020 1 RMU1
RMU2 33 3000226010 1 RMU2
RMU4 34 | 3000229020 1 RMU4
Cover for antenna holes 35 | 9999N05810 2 Abdeckung fir Ant.l6cher
Mains cable 1,5m EU* 36 0110E03160 1 Netzkabel 1,5m EU*
Mains cable 1,5m US* 37 0110E03170 1 Netzkabel 1,5m US*
Mains cable 1,5m UK* 38 | 6001H36040 1 Netzkabel 1,5m UK*
Front mount cable BNC 50cm | 39 0110E01890 2 Frontkabel BNC 50cm
MKPS, cable BNC 60cm* * 40 | 6000H02060 10 MKPS, Label BNC 60cm* *

*depends on APS4 version

**MKPS cable is a sales item

3/3





